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Keep/make this or something like it.

@https://harryzaims.com/ 122/122-fall-22/cheat-sheet-test-2.pdf

A graphing calculator that gives more precision

https://www.geogebra.org/graphing?lang=en

Check your e-mail. I e-mailed you a snippet of spreadsheet with your current grade.

I gave everybody the e-mail settings, but will be checking those, later. 5% of your grade.
Attendance: Everybody but one student got 100%, until I drill deeper. It's only 5% of your
grade.
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30. + 0/ points

Write the trigonometric expression as an algebraic expression.

cos(arccos 5x — arctan 2x) = cos (u ~v)
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7. + 0/6 points
Us to find the values of all six trigonometric functions. (If an answer
tan(x) < 0
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10. + 0/1 points LarTrig10 2.1.030. [388221

Factor the expression. Use the fundamental identities to simplify, if necessary. (There is more than one correct form of eac

answer.)

15 cosz(x) + 17 cos(x) — 4

(3 cos(x) +4)(5 cos(x) — 1)
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15.  + 0/3 points This is in previous

Verify the identity. (Simplify at each step.)

[1+sin@ 1+sinf

V1_sing |cos 6|

+ 0/ points LarTrig10 2.3.003. [3882142]

Fill in the blank.

The equation 2 tan?(x) — 3 tan(x) + 1 = 0 is a trigonometric equation of x ) quadratic| type.

O 22 Ayt

Sl
|4"'N}X+1‘,+Mx 4-7—_5 ;
=D Lr¢+ u=-l-o-...x.

P

1_41-"')‘ "'3‘1""\‘ ¥ |

(q_u.-i—\)(u*' N =2




221005-2-x-and-review.notebook

- —) =4 x

2unw '\’l—'—_o “
1 S0 EXACT omasen.
’L“‘; —
(4o X 1
\1-_——._’-{- _I_ (_—‘\:_&AC—JR(V\
< Ly
2 0 v ¥ nE
= -1 Q‘\T-l'mr—',"'&(—vx-‘—““ e b o o'“; ~
& e (2 4%T o+
QU - ot oo

O U
[TV T -ancten (2

W.-;ll'ﬂ-u(’l‘-’\ ’s nwhomd 2 ‘a,A ell oud b¥0}>

@: N‘}’hiﬂsz ?:
P = Reads

October 05, 2022




221005-2-x-and-review.notebook

October 05, 2022

-P‘uu“\' QHJH t:-uj

e ‘ +w5{h)
st = (c.,;—m) ( )
-4 [w;’ﬁq;—'uos(w) + l]
Lt
L \" Lt_cgﬁ*g) + 2os) 'H’_Z

| 4cos D => Co 5‘1’ CV‘\ =
eos ( )= % —

“ 5
3+ |
- &

Leosled) + =

= tCOs{‘M‘ + 2 s
—aps (-
'H‘ALF'ANGL‘E J . 2(“\: _L_ﬁ—f—-)

" 4 [1- cosée) - Sw
se(%) =% —

14 cos@es)




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7

